

PRIMITIVE

$$p \neq -1 \quad \int x^p dx = \frac{x^{p+1}}{p+1} + c$$

$$\int \frac{1}{x} dx = \log|x| + c$$

$$\int \sin x dx = -\cos x + c$$

$$\int \cos x dx = \sin x + c$$

$$\int e^x dx = e^x + c$$

$$\int \frac{1}{1+x^2} dx = \arctg x + c$$

$$\int f(x)^p \cdot f'(x) dx = \frac{f(x)^{p+1}}{p+1} + c$$

$$\int \frac{1}{f(x)} f'(x) dx = \int \frac{f'(x)}{f(x)} dx = \log|f(x)| + c$$

$$\int [\sin f(x)] f'(x) dx = -\cos f(x) + c$$

$$\int [\cos f(x)] f'(x) dx = \sin f(x) + c$$

$$\int e^{f(x)} \cdot f'(x) dx = e^{f(x)} + c$$

$$\int \frac{1}{1+f^2(x)} f'(x) dx = \arctg f(x) + c$$

ESEMPLI

$$\int 4 \cos x dx = 4 \int \cos x dx = 4 \sin x + c$$

$$\int \left(5x^5 + \frac{x^3}{\sqrt{x}} - 7x^5 \sqrt[3]{x} \right) dx =$$

$$5 \int x^5 dx + \int \frac{x^3}{\sqrt{x}} dx - 7 \int x^5 \sqrt[3]{x} dx =$$

$$5 \frac{x^6}{6} + \int x^{3-1/2} dx - 7 \int x^{5+1/3} dx = \frac{5}{6} x^6 + \frac{x^{5/2+1}}{5/2} - 7 \frac{x^{16/3+1}}{19/3} + c$$

$$\frac{5}{6} x^6 + \frac{2}{7} x^{7/2} - \frac{21}{19} x^{19/3} + c$$

$$f = \sin x$$

$$f' = \cos x$$

$$\frac{\sin^5 x}{5} + c$$

$$\int \sin^4 x \cdot \cos x dx$$

$$\textcircled{2} \int \frac{6}{6} \sin(6x+3) dx$$

$$f = 6x+3$$

$$f' = 6$$

$$\frac{1}{6} \int 6 \cdot \sin(6x+3) dx = -\frac{1}{6} \cos(6x+3) + c$$

$$\textcircled{3} \int \frac{2}{2} x \cdot e^{x^2} dx$$

$$f = x^2$$

$$f' = 2x$$

$$\frac{1}{2} \int 2x \cdot e^{x^2} dx = \frac{1}{2} e^{x^2} + c$$

$$\textcircled{4} \int \frac{\cos(\log x)}{x} dx$$

$$f = \log x$$

$$f' = \frac{1}{x}$$

$$\int \frac{1}{x} \cdot \cos(\log x) dx = \sin(\log x) + c$$

$$\textcircled{5} \int \frac{\sin x}{\cos x} dx \quad \begin{array}{l} f = \cos x \\ f' = -\sin x \end{array} \quad - \int \frac{-\sin x}{\cos x} dx = -\log|\cos x| + c$$

funzioni razionali $\int \frac{p(x)}{q(x)} dx$

$$\int (3x^4 + 4x^2 + 2x + 1) dx = 3 \frac{x^5}{5} + 4 \frac{x^3}{3} + \frac{x^2}{2} + x + c$$

se $p(x)$ ha grado maggiore del grado di $q(x)$ eseguo la divisione fra polinomi

$$\frac{p(x)}{q(x)} = f(x) + \frac{r(x)}{q(x)} \quad \begin{array}{l} \text{grado di } r(x) \\ < \text{grado di } q(x) \end{array}$$

$$\int \frac{p(x)}{q(x)} dx = \int f(x) dx + \int \frac{r(x)}{q(x)} dx$$

$$\int \frac{3}{2+x} dx$$

$$\begin{array}{l} f = 2+x \\ f' = 1 \end{array} \quad 3 \int \frac{1}{2+x} dx = 3 \log|x+2| + c$$

$$\int \frac{3+x}{5+x} dx$$

$$= \int \frac{x+3+2-2}{5+x} dx = \int \frac{x+5-2}{x+5} dx = \int 1 - \frac{2}{x+5} dx$$

$$x - 2 \log|x+5| + c$$

$$\int \frac{1}{x^2+9}$$

$$\Delta < 0$$

$$\int \frac{1}{1+f^2} f' dx = \arctan f + c$$

$$\int \frac{1}{x^2+9} dx$$

$$\int \frac{1}{9(1+\frac{x^2}{9})} dx = \frac{1}{9} \int \frac{1}{1+\frac{x^2}{9}} dx = \frac{1}{3} \int \frac{1}{1+(\frac{x}{3})^2} \cdot \frac{1}{3} dx = \frac{1}{3} \operatorname{arctg} \frac{x}{3} + c$$

$f^2 = \frac{x^2}{9} \quad f = \frac{x}{3} \quad f' = \frac{1}{3}$

a70

$$\int \frac{1}{x^2+a} dx = \frac{1}{\sqrt{a}} \operatorname{arctg} \frac{x}{\sqrt{a}} + c$$

$$\int \frac{1}{a(1+(\frac{x}{\sqrt{a}})^2)} dx \quad f = \frac{x}{\sqrt{a}} \quad f' = \frac{1}{\sqrt{a}} \quad \frac{1}{\sqrt{a}} \int \frac{1}{1+(\frac{x}{\sqrt{a}})^2} \cdot \frac{1}{\sqrt{a}} dx$$

$$\int \frac{1}{x^2+x+1} dx$$

$$\Delta = 1-4 < 0$$

$$x^2+x+1 = \left(x + \frac{1}{2}\right)^2 - \frac{1}{4} + 1 = \left(x + \frac{1}{2}\right)^2 + \frac{3}{4}$$

$$\int \frac{1}{x^2+x+1} dx = \int \frac{1}{\left(x + \frac{1}{2}\right)^2 + \frac{3}{4}} dx = \int \frac{1}{y^2 + \frac{3}{4}} dy =$$

$$\boxed{x + \frac{1}{2} = y}$$

$$dx = dy$$

$$\int \frac{1}{\frac{3}{4}\left(y^2 + \frac{4}{3}\right)} dy = \frac{4}{3} \int \frac{1}{\frac{4}{3}y^2 + 1} dy = \frac{2}{\sqrt{3}} \int \frac{1}{\frac{4}{3}y^2 + 1} \cdot \frac{2}{\sqrt{3}} dy = \frac{2}{\sqrt{3}} \operatorname{arctg} \frac{2}{\sqrt{3}} y + c$$

$$f = \frac{2}{\sqrt{3}} y \quad = \frac{2}{\sqrt{3}} \operatorname{arctg} \frac{2}{\sqrt{3}} \left(x + \frac{1}{2}\right) + c$$

$$f' = \frac{2}{\sqrt{3}}$$

$$\int \frac{3x+2}{x^2+1} = \int \frac{3x}{x^2+1} + \int \frac{2}{x^2+1} = \frac{3}{2} \int \frac{2x}{x^2+1} + 2 \int \frac{1}{x^2+1} dx$$

$$= \frac{3}{2} \log(x^2+1) + 2 \operatorname{arctg} x$$

$$f = x^2 + 1$$

$$f' = 2x$$

$$\int \frac{x^3 - 1}{x^2 + 2} dx$$

$$\begin{array}{r|l} x^3 - 1 & x^2 + 2 \\ \hline -x^3 - 2x & x \\ \hline \hline & -2x - 1 \end{array}$$

$$\int x dx + \int \frac{-2x - 1}{x^2 + 2} dx$$

$$\frac{x^2}{2} - \int \frac{2x + 1}{x^2 + 2} dx = \frac{x^2}{2} - \int \frac{2x dx}{x^2 + 2} - \int \frac{1}{x^2 + 2} dx =$$

$$\frac{x^2}{2} - \log(x^2 + 2) - \frac{1}{\sqrt{2}} \int \frac{1}{\sqrt{2}(\frac{x^2}{2} + 1)} dx = \frac{x^2}{2} - \log(x^2 + 2) - \frac{1}{\sqrt{2}} \arctan \frac{x}{\sqrt{2}} + C$$

$$\int \frac{\ln^4 x}{x} dx$$

$$\int \frac{x^3}{x^4 - 3} dx$$

$$\int \sin x \sqrt{1 + \cos x} dx$$

$$\int \frac{x^3 - 2x + 1}{x^2 + 3} dx$$

$$\frac{1}{4} \int e^{4x-2} dx = \frac{1}{4} e^{4x-2} + C$$

$$\int \frac{e^{\arcsin x}}{\sqrt{1-x^2}} dx = e^{\arcsin x} + C$$

$$\int \frac{\ln^4 x}{x} dx = \int f^4(x) \cdot f'(x) dx = \frac{\ln^5 x}{5} + C$$

$f(x) = \ln x$

$$\int \frac{\ln^4 x}{x} dx = \int t^4 dt = \frac{t^5}{5} + C = \frac{\ln^5 x}{5} + C$$

$$t = \ln x$$

$$dt = \frac{1}{x} dx$$

$$\int \frac{x^3}{x^4 - 3} dx = \frac{1}{4} \int \frac{4x^3}{x^4 - 3} dx = \frac{1}{4} \log|x^4 - 3| + C$$

$$f = x^4 - 3$$

$$f' = 4x^3$$

$$\boxed{\begin{array}{l} t = x^4 - 3 \\ dt = 4x^3 dx \\ \frac{dt}{4} = x^3 dx \end{array}} \text{ ALTERNATIVE}$$

$$\int \sin x \sqrt{1 + \cos x} \, dx = \int \sin x (1 + \cos x)^{-1/2} \, dx$$

$$f = 1 + \cos x$$

$$f' = -\sin x$$

$$p = 1/2$$

$$= - \int (-\sin x) (1 + \cos x)^{1/2} \, dx$$

$$= - \frac{2(1 + \cos x)^{3/2}}{3} + C$$

$$\int f^p f' \, dx$$

$$= \frac{f^{p+1}}{p+1} + C$$

$$\int \sin x \sqrt{1 + \cos x} \, dx$$

$$1 + \cos x = t$$

$$-\sin x \, dx = dt$$

$$\sin x \, dx = -dt$$

$$- \int \sqrt{t} \, dt = - \frac{2t^{3/2}}{3} + C$$

$$\begin{array}{r|l} x^3 - 2x + 1 & x^2 + 3 \\ \hline -x^3 - 3x & x \\ \hline \hline & -5x + 1 \end{array}$$

$$\int x \, dx + \int \frac{-5x + 1}{x^2 + 3} \, dx = \frac{x^2}{2} - \frac{5}{2} \int \frac{2x}{x^2 + 3} \, dx + \int \frac{1}{x^2 + 3} \, dx$$

$$\frac{x^2}{2} - \frac{5}{2} \log|x^2 + 3| + \frac{1}{\sqrt{3}} \arctan \frac{x}{\sqrt{3}} + C$$